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Find the quartile of the materials arranged in ascending order.
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Draw a boxplot from the 5-number summary.
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Find the quartile of the materials arranged in ascending order.
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Read the following values from the box plot.
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Find the quartile of the materials arranged in ascending order.
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Read the following values from the box plot.
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Find the sum of the datas.
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Find the average to
one decimal place.
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Complete the following table.
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Answer about the frequency distribution table of the weight of egg M.
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Find the average weight x of eggs.
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Find the average squared weight of the eggs.
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s§2 = x? — ( x )

=3603.25—607=3603.25—3600= 3.25

HA D

[

Rh Sk LrodoEn

(5) 4y iz /N B 2&
TR £

Find the variance to

two decimal places.

26 —§& = 3.25
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Find the variance of the weight of the egg S.
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Find the average to
one decimal place.

528+¢& = 66.0 ()
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Complete the following table.
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Answer about the frequency distribution table of the weight of egg L.

BEARAE x| FEH S X% f 2 xf
64 2 |eax2= 72¢ 64%x1 = §792
65 2 |esx2 = /30 652x2 = £450
66 1 |eex1 = 46 667x1 — 4356
67 1 |ex1= 47 6721 = 4489
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Find the average weight x of eggs.
528+8= 66 (g)
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Find the average squared weight of the eggs.
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o Find the variance of the weight of the egg.
s = 22 —(x)

= 4359 —667=4359—4359= 3
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Find the variance to

two decimal places.

4 —§& = 3

3.00

LY x9H ~h & ~hEN\D LY ) ~ & ~h E\9
ap | e | (Ee) woe | me | (E)
64 —2 4 70

64 —2 Y 71
65 —7 7 71
65 —7 7 72
66 0 0 72
67 7 7 73
68 2 4 75

9 m

69 3 9 & @

Z9 T

& Gt 24

/Sﬂ/ué/u Lrd ¥ En

(5) Gy & /N B 2&
if“ik&boto

[PARREYY /Sa/u Sk

IO LL @Eé(g)O) ﬁ&%*&)i

Find the variance of the weight of the egg LL.
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Find the sum of the datas.
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Find the average to
one decimal place.

55070 = 55.0 (g)
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Find the deviation of 57 g.
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Answer about the frequency distribution table of the weight of egg MS.

BEARAE x| FEH S X% f 2 xf
52 1 [s2x1= 52 5221 = 2704
53 1 |s3x1= 53 53%x1 = 2809
54 1 |sax1 = 54 54%x1 = 2976
55 3 |55x3 = 745 552x3 = 9075
56 2 |s6x2 = 772 5672 = 6272
57 2 |5Tx2 = 174 577x2 = 6498

& & 70 550 30274

Thon ® TEY

(1) a%ﬂﬂ@ﬁé OBl x ff;k&bot

Find the average weight x of eggs.
550+=70= 55 (8

@ BIOESD 2 T O THHE 2 %K L,

Find the average squared weight of the eggs.
30274+—70= 3027.4

@) BIIOE S DS 2 %Kkw L,

o Find the variance of the weight of the egg.
s = 22 —(x)

=3027.4—55*=3027.4—3025=_2.4

HA D
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5 ~h ~hEN\9 I ~h ~hbEND
e | wme | (5e) a6 wme | GEe)
52 —3 9 58
53 —2 Y 59
54 —7 7 59
55 0 0 60
55 0 0 60
55 0 0 60
56 7 7 61
56 7 7 61
57 2 4 62
) m
57 2 4 & F
Z9 Q‘L\
& it 24
S Eh Lx T A /Sﬂ/ué/u L X n
(5) /\%ﬁz% /J\%z% 2 f\L (5) 7 %Wzd\ %z% 2 L
if“fk&b X, ifﬂ%&);o

Find the variance to

two decimal places.

A4 =70 =2.4
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Find the variance of the weight of the egg M.

AR IV =Y = '4’\/5
oAl x| RS x X f X2 X f
58 1
59 2
60 3
61 2
62 1
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HWINL () — Ji LL (g — BINS (9 ———— I M (g)
64 64 65 66 71 72 73 46 48 49 49 58 59 59
66 68 69 74 75 49 50 50 b1 60 61 63
Lvxrs  Z500 bk 5 _om Vrs 25 Hun
D& B oaitzRD L, (D) &R o ;Hr%;k&bot (1)1%*4@ ;Hrfzzk&)ot (1)%*4@ ;Hrfz;k&bot
Find the sum of the datas.
64+ 64+ 65+ 66
+ 66+ 68+ 69
= 462 (g)
~VEAL B L5 T ~NVEL B L 9T
~DEL L ~NEL B NSETE N SR N
@ FEE % B 1 |(@ T N1 @ T E R L @) i bR 1
ERS T ERS T £k L £k EL
Find the average to
one decimal place.
462+7 = 66.0 (g)
s, N g, B ~hs ~ A
(4) 67 g DfEZRD L, (471 g DfRELRD Lo @ aTgOREERD L, ()62 DAL KD L,
Find the deviation of 67 g.
5 —
67  — b6
=7 (2
oj_i dtj%/]}u%'ﬁ:i }i om%n/umﬁ:i
2%  Vrd | hAEL SF  VrH  HAED 4) IR D 52 o 4) IR D 52 o
@ Kho'F EEREL, (@) KD K %2R L, @ i @ i
Complete the following table. é} ;Fj' %”% (%”%)2 é} t*j' %}”% (%”%)2
wn | wh | @Rt |||en] WE | G - -
64 | —2 4 71 48 59
64 | —2 4 72 49 59
65 | 7 7 73 49 60
66 0 0 74 49 61
66 0 0 75 50 63
) A - =
68 2 4 A 50 -
69 3 9 51
o5 i o9 "
& F 22 &
/Sﬂ/ué/u LrodoEn /Sﬂ/ué/u Lrd ¥ En /S’}U }u - " &}Ué}u L5 "
®) 2 %M”J‘%f%“i ®) i B 2 ®) % %&%/J\%z% 20 |G) riE W 2 (i
£ TR K SR L33 ERS NS TRk,
Find the variance to
two decimal places.
22 «7 =3.7428- -
3.4
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40 41 42 43 43
44 44 45 45
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Find the sum of the datas.
YO+YT+42+ 43443
+ 44+ 44+ 45445

= 387 (g)

~nEAL B L)) En A

@) 1%1@% I s 1AL
if“ik&b £

Find the average to
one decimal place.

387+9= 43.0 (g)

~ kb &

(@Mg@ﬁ%%*%i

Find the deviation of 41 g.
~NE LB
7=y — T
47 — 43

= —2 (g)

@ Ko H & ERE L,

Complete the following table.

(1) & B o

AR-FAN) L)) En I

(2 iﬂ’ﬂﬁfz i K 1AL
if“ik&boto

(3) 46 g DI % Kb &

l nh Y

(@&d%%mmﬁ;

AN b
itz R

b
FTKRD L,
Find the variance to
two decimal places.

20 ~9 =2.222- -

2.22

LY x9H ~h & ~hE\D LY ) ~ & ~h E\9
gt | W | () ar | me | (W)
40 —3 9 46
41 —2 4 46
42 —7/ / 47
43 0 0 48
43 0 0 49
44 0 0 50
44 / / 51
45 / / 51
45 2 4 51
9 A
& &t 20 51
2 &
BREA O LEaTaEn u &
(B) AR B 2 4f
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#50 MS () B M ()
52 52 b4 55 58 58 59 60
56 57 57 5H7 60 62 63
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52 58
52 58
54 59
55 60
56 60
57 62
57 63
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if“fk&b X, if“fk&bio




BYVR-YY noEn

g% 7H 6 R

EC OB &

nv N Hh
f5il /E D
FV b A A
%90 LL (g) IS (g)
71 71 72 73 46 48 49
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(1) & B oG ZRD L, (1)1%*4@ ;Hrfz;k&bot
Find the sum of the datas.
7I+77+72+73
+ 74474475
= 577 (2)
N~ EL B ~OEL B
Q) FE %= /J\ %I% lﬂ (2) ¥ EE /J\ %I% 1 u
i’@fk&) AN i’@ﬂ?&)io

Find the average to
one decimal place.

5177 = 73.0 (8)

@ T5g DRERRD L,

Find the deviation of 75 g.

7 A i
75 — 73

e

& [P 3] A D
(4) WD £ KL,

Complete the following table.

(3) 48 g DIRER K k.

k1 [P I] A N
(4) kD & &5 X,

/Sﬂ/ué/u LrodoEn

(5) 5 ﬁﬁ% N B 2&
if“fk&) £

Find the variance to
two decimal places.

1§ ~7 =2.577- -

2.57
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71 —2 4 46
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73 0 0 49
74 7 7 50
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Find the sum of the datas.
Yo+47 48+ 48+ 49+
50+50+50+57+57

~ 490 (@
(%i%%%m@%1u
TRk,

Find the average to
one decimal place.

490=+70= 49.0 (g)

~ kb &

(@Mg@ﬁ%%*%i

Find the deviation of 47 g.
~NE LB
7=y — T
47 — 49

= —2 (g)

@ Ko H & e,

Complete the following table.

(1) & B o

~nEhL B

(2 iﬂ’ﬂﬁfz /J\ %I% 1 u
if“ik&boto

(3)40 g DI % K &

x> LAYV

(@&@%%mmﬁ;

AN b
itz R

WE | e | (R R | e | (R
46 -3 9 40

47 —2 Y 41

48 —7 7 42

48 —7 7 43

49 0 0 43

50 7 7 44

50 7 7 44

50 7 7 44

51 2 Y 44

51 2 Y 45
ST > o
& &t 26 S

Bh Sk LrodokEn

(6)) /\ﬁﬁ%: N B 2&
i’@ﬂ?&b £

Find the variance to
two decimal places.

26 —70 = 2.60
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(3) 56 g DI 35 % Sk &
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BARRCY Y A=Y
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uwl W EFHEE L, ul uWlEFHEE L,
X u u? x u u
58 —2 4 48
59 —7/ / 49
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61 / / 51
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S / 4
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u=8+8= 1(g
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(B) u?2 DF1 u? & K
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/Saiu S A bL

6) u, x Doy ERD &
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x= u + 60

=1+ 60 =_61(g)
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Q) u DV u ZRKD X,
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